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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-1_0
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P3-1

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFE
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P3-1
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P3-1

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

09:05 273 150. 0 2.583 |Z=&| 1BRi&@09:05 Bzl (RAERE)
10:05 273 150. 0 2.583 |Z=| {Ri&e10:05 Bz (REEHE)
12:25 273 150.0 2.583 FR| {Ri%@12:25 Bzl (GGRAERE)
13:25 273 150.0 2.583 PH| 1{Ri%e@13:25 B (RAHEES)
14:20 273 150.0 2.583 FA| {Ri%@14:20 Bz (GGRAEEE)
2it]1365.0 (5%) 750.0 323K EC: 2080.0, PH: 5.6

large discrepency for begining water status (392:48.0), set to 392 ml
[ /&EC 6213.0 K&, EiIUAKECAAIMIAER
BE[EIRECE (2007. 0 vs 6213.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=64 (2025-06-01)
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Warning: lcol ['FVI',| "FVO'] missing 146

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

07:20 278 150.0 2.583 FA| 1B2i%@07:20 Bzh (kAB{EREEE)
08:20 278 150. 0 2.583 FA| 1BRi%@08:20 B3zh (KA{ERESE)
09:20 278 150.0 2.583 FA| {Ri%@09:20 Bz (RAMEEEE)
10:20 278 150. 0 2.583 FA| 1B2i%@10:20 B3h (RA{EREE)
11:20 278 150.0 2.583 FA| 1Bi%@11:20 B3h (kAERE)
13:40 278 150.0 2.583 | K/| {Ri&e13:40 Bzl (REEHSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (345:129.0), set to 345 ml.
[2]/REC 6960.0 K&, #iUAKECHAIMIAERR
P [ERECE (2087.0 vs 6960. 0) 33 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=63 (2025-05-31)

T e g g g S S S B S

V1, V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1500

100 A 417
50

20 Warning: lcol [FVI',| "FVO’'] missing

1432

1200

200 3

150 -

100

50 A

60

200
791

— ME

maxM

-27.5

-25.0

-22.5

Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:20 278 150.0 2.583 FA| {Ri%@07:20 Bz (GkAEEE)
08:05 278 150.0 2.583 FA| {Ri%@08:05 Bz (kAMEEE)
08:50 278 150.0 2.583 FA| 1BRi&@08:50 B3h (FKA{EREEE)
09:35 278 150.0 2. 583 FA| {Ri%@09:35 Bz (RA{EEE)
10:20 278 150. 0 2.583 FA| 1BRi%@10:20 B3h (RA{ERESE)
11:15 278 150.0 2.583 FA| {Ri&e11:15 Bzl CGRAEEE)
11:55 278 150.0 2.583 FA| {Ri%@11:55 Bz CGRAERE)
12:35 278 150.0 2.583 FA| {Ri&@12:35 Bz (GRAEESE)
13:15 278 150.0 2.583 FA| 1BRi%@13:15 B3h (KRAHERSE)
14:00 278 150.0 2.583 FH| 1Ri&e14:00 Bzh (GRAEREE)
15:10 278 150.0 2.583 FA| {Ri%@15:10 Bz (CGRAEESE)
16:30 278 150. 0 2.583 PH| 1{Ri%e16:30 Bz (KRAHFERESE)
24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (389:87.0), set to 389 ml

[ /&EC 7247.0 K&, EIURKECAAIMIAER
#EEIRECE (2220.0 vs 7247.0) 537




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=62 (2025-05-30)
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